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PART -1: GENERAL ENGLISH

1. When your friend receives a gold medal in sports, what would you say?
(1) Ohmy God! (2) How disgusting!
(3) Whatamiracle! (4) Congratulations!

!‘J

Mr. Rao is interested in travelling. I think he can s‘u‘ggcst you the best places of visit.
(1) Expressing opinion (2) Expressing gratitude
(3) Complaining (4) Expressing adequacy

)

What was the author’s motto in presenting the story ‘What is My Name?’
(1) to bring out the identify of women

(2) toremove orthodoxy

(3) to confine the women to household chores

(4) to forget their name and continue a dependent life

4. Which of the following incidents make ‘The Brave Potter’, a funny story?
(1) The Potter drinks some palm-wine to feel better.
(2) The King declared the Potter his Army General.
(3) The Potter’s wife brought the letter of the enemy king to the Emperor.
(4) The Potter hung on the back of the horse like a sack of rice praying God for his life.

5 Itdoesn’t scem delicate, somehow to own your father’s slippers.

(Find the antonym of the underlined word)
(1) smooth (2) tender

(3) awesome (4) horrible
6. Identify?hver G;eek‘words from the following.

a) thesis

b) species

c) erratum

d) crisis
(1) (a), (b), () (2) (a),(c), (d)
(3) (a),(b),(d) (4)7_7(0)0nrl_y- -
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7. There are many mistakes in your answer. Rewrite everything.
(Combine the sentences using ‘since’)
(1) Since there are many mistakes in your answer, rewrite everything.
(2) There are many mistakes in your answer since rewrite everything.
(3) There are since many mistakes in your answer, rewrite everything.
(4) Since there are many mistakes in your answer, so rewrite everything.

8. Ido not have cnough clothes for my journey.
In the above sentence ‘enough’ acts as

(1) anadverb (2) anadjective
(3) anoun (4) averb
9. The context / subject is the necessary element for a
(1) Daary entry (2) Aspeech
(3) A description (4) All the above
10.  Which of the following is the most important element for a diary entry?
(1) the mood of the writer (2) formal greetings
(3) note making of an incident (4) address of the wnter

(11-15) Read the following passage and choose the correct answer to the question that follows.

One day, a father of a rich family took his young son on a trip to the country side to show
him how poor, people can be. They spent a day and a night in the farm of a very poor family.
When they got back from the trip, the father asked his son, “How was the trip?”

‘Very good, Dad!’ said the son.
‘Did you see how poor people can be?’ the father asked.
“Yeah!” ‘And what did you learn?’ asked father.

The son answered, “I saw that we have a dog at home, and they have four. We have a pool
that reaches to the middle of the garden, they have a creek that has no end. We have imported
lamps in the garden, they have the stars. Our patio reaches the front yard, they have a whole
horizon.” The boy’s father was speechless. His son added, “Thanks Dad, for showing me how
poor we are!”.

Everything depends on the way we look at things. Our posmvc attitude and true spirit,
makes us feel we have everything.’

11.  What did the father want to show his young son?

(1) every nice thing in the World

(2) the country side

(3) how a city life is better than country life

(4) how poor, people can be at the country side
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12.  What was the son’s feeling after their return from the trip?
(1) He felt tired (2) He was speechless
(3) He liked the trip (4) He felt angry upon his father

13.  What did the boy learn about the country side during his stay?
(1) People are very poor at country side.
(2) People at country side are much more happier than the rich families.
(3) People own big houses.
(4) The country people have sleepless nights.

14. What was mainly focused in the passage?
(1) The difference between natural and artificial life
(2) The similar features in father and son
(3) How rude was a father to his son?
(4) How disobedient was a son towards his father?

15.  What can make us feel rich and happy?
(1) dependent life
(2) astay at country side
(3) apositive attitude and true spirit
(4) 1mported lamps, a dog and a patio
16.  When your friend is in need of money and you don’t have any money to help him, how do
you express your inability?
(1) 1canneverhelp you
(2) It is none of your business
(3) Getaway from here
(4) 1am very sorry, I don’t have either

17.  What are the features of a one act play?

(1) Focus on one incident (2) Minimal characters
(3) Both(1)and(2) (4) Fantasy
18. Identify the positive quality / qualities given below.
a)  haughty
b)  trusting

c) idealistic

d) cautious

(1) (a)and(c) (2) (d)only

(3) (a),(b)and (c) (4) (b),(c)and (d)
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19. The boy was rewarded forhis ~~ performance.
(Fill in the blank with right collocation)
(1) outraging (2) forgettable
(3) outstanding (4) allocating

20. “‘Oh, what a surprise!” What kind of expression is this?
(1) Excitement (2) Annoyance
(3) Dejection : (4) Grief

’

21. ‘Itis such a delightful moment in my life
Which category does this expression best fits in?

(1) Conversation (2) Diary entry
(3) Biographical sketch (4) Both (1) and (2)
22. ‘Pranam Guruji! I have a wish to present before you’. The sentence above can be the opening
remarks of
(L) Aspeech (2) Anessay
(3) A conversation (4) A formal letter
23. Shehadalwaysbeenbad  languages.
(Choose the right preposition)
(1) in Q) at
(3) by (4) of

24. Madan has a little sister. She is in Class 2.
(Combine the sentences using Relative clause ‘Who”)
(1) Madan who has a little sister is in Class 2.
(2) Madan has a little sister who is in Class 2.
(3) Madan has a little sister who she is in Class 2.
(4) Who is Madan’s little sister?

25.  Which of the following words come first in a dictionary?
(1) repeat (2) repel
(3) receive (4) reality
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26. [saw my father’s face lighting up with contentment.
What is the synonym of the underlined word?

(1) satisfaction (2) consent
(3) connection (4) displeasure
27. You may take left and go straight to reach the post office.
(1) Giving directions (2) Expressing possibility
(3) Refusing help (4) Giving permission
28. Which qualities do you find in Wangari Maathai?
(1) Environmentalist (2) Nobel prize winner

(3) Feminist (4) Allthe above

729 The anecdote of Socrates teaches us that can lead to success.
(2) aburning desire

(1) aweak desire
(4) drowning in water

(3) air to breathe
30. He found the world of Apu so fascinating that he saw all three films in one sitting.

(Choose the appropriate antonym for the underlined word)

(1) boring (2) curious

(3) wonderful (4) irregular
3] What is the one word substitute for ‘A film that gives facts about something’?
(1) didactic , (2) documentary

(3) aesthetics (4) portal

32. The speaker’s / writer’s personal opinion is expressed in
(1) A Diary entry (2) Informal letter
(3) Jobapplication (4) Both(1l)and (2)

33. We have experienced that animals are endangered in the poem *Or will the Dreamer Wake’.
This can be best explained as ‘Extinction of Wild Life’ in the form of

(2) A message

(4) A statement

(1) Aspeech
(3) Biography

34. Raju may recover within a couple of days.
(1) Suggestion
(3) Offer

(2) Possibility
(4) Statement
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35. Whatis the theme behind the lesson ‘The Journey?’
(1) Human relations (2) Unity
(3) Personality development (4) Bio-diversity
36. To Roberge, Ray was not
(1) a famous director (2) screenplay writer
(3) aliving museum piece (4) anartist
37. Pick out the Rhyming words from the following.
(1) boo-boo (2) zig-zag
(3) hanky-panky (4) tick-tock
38. The man reversed the car.

(Change into Passive Voice)

(1) The carreverses by the man.

(2) The car was reversed by the man.
(3) The car may be reversed by the man.
(4) The man was reversed by the car.

39. It’s ime you seriously about your future.

(Choose the right verb from the options given below)

(1) thought (2) think

(3) may have thought (4) will think
40. Pick out the word with wrong spelling.

(1) departed (2) absolutly

(3) detractors (4) dialogue
41. Ramya will announce the news.

(Change into Passive Voice)

(1) The news will announce Ramya.

(2) The news will announced by Ramya.
(3) The news was announced by Ramya.
(4) The news will be announced by Ramya.

42. The course of a person’s life is presented in
(1) amessage (2) asituation
(3) abiography (4) a formal letter
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43. Whatdoes it mean when Wangari Maathai said, “When we plant a tree, we plant hope”.
(1) Trees are the source of life for future generations.
(2) The planting of exotic species can retain water for vegetation.
(3) We can cut down the old trees and plant new ones.
(4) We may plant a tree and hope only in the rural areas.

44. Which qualities in Nick won him the Australian youn_g Citizen of the year award?
(1) his unsuccessful attempt to suicide
(2) his love and respect for parents
(3) hisbravery and perseverance
(4) lack of purpose in life

45 1 have cut my finger. The underlined phrase is in tense.
(1) Present tense (2) Present Perfect tense
(3) Past tense (4) Past Perfect tense

46. | want this parcel to be sent rlght away.
Find the meaning of the word underlined according to the context.
(1) immediately (2) completely
(3) appropriately (4) faraway
47. Suresh, who studies class 6, has left the school just now?
(What type of clause is the underlined part?)

(1) Defining relative clause (2) Non-defining relative clause
(3) Adverbial clause (4) Verb phrase
48. Whnch of the followmg is necessary for a conversation?
(1) A theme/1ssue (2) Two or more people
(3) Aresolution (4) All thc above
49. The poem ‘Once Upona F ime’ 18
(1) A father’s emotions (2) A conversation
(3) A message 4) A spccch
50. Abel was in distress to see his daughters dividing his property. How could he express his
inner feelings?
(1) through a description (2) througha diary entry
(3) through a letter to friend (4) all theabove
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PART - II : MATHEMATICS

10 1,.,100
51. The centroid of the triangle whose vertices are (loglo’loglo

1
[log;,logszs} 1s

1
2 3 =
(log}g,logigo),(logi logg );’)Jaoﬁoo[log;,logszsj Dooden BoTeom KOAS Bz

2@
),(logj log} ) and

Ko &ESoo
) 4 7
= _ 4 |[=,=
(1) (3,3] @ 1) (3) © -1 (4) (3 3j
[98+\/x2—12x+36]
52. Iflog, =2 thenx=
(1) 2or4 (2) 4o0r8 (3) 8orlé6 (4) —4or8
[98+\/x2—12x+36]
log =2 ®ond x =
(1) 284 (2) 488 3) 88= 16 4) -438=8
53. Ifa=16and b =9 then how many of the following are rational?
Ja ¥ b N, 2
a =16 08050 b =9 ©wond & Bod e AQ) vESBo% Sopgen wPHaron?
Va+b,x/21;,da—b,\/%
(1) 1 (2) 2 (3) 3 4) 4

54 Ogss\ls N

s 2 1 3) 25 @ |
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55. If x ~0.23 and v =0.2 then the value of p — g, where x + y is written in the form off

(¢#0.p.ge Z and GCD of p, g is 1)

.\':0._2_5,_\’=0.§ ®odYPd x ty XnI—) (g#0,p,qe 7, p, q o B3 1) drdod’
q

TRSdyE p - g DeND
(1) 55 (2) 6
(3) 6 (4) 16

56. Which of the following statement is false, where set A and set B are equal?
5208 A 00050 D08 B ew S50, & §od IS Q PIBS0 e3850?
(1) n(A)=n(B) (2) A=B
(3) B-A=0¢ (49) A-B=A

57. IfA={x:x®—5x+6=0},B={x:x?—x—6=0} then find the correct matching.
A={x:x2-5x+6=0},B={x:x*—x—6=0} ®003 §od TAS® HBTS 2BSDHBOLI

ESoF S50,
i) AUB p {2}
i) ANB 9 {2}
iii)y A-B o {-2,2,3)
iv) B-A s) {3}

(1) (i) - (1), (i) = (5), (iii) = (q), (V) = (p)
2) (i) - (s), (i) = (9), (iii) > (p), (iv) = (1)
(3) (i) — (p), (i)) = (q), (iii) = (1), (iV) > (5)
4) (i) - (), (i) = (), (iii) = (), (V) = ()

’ V-Maths 11-A
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58.  Which of the following sets the shaded part is representing?
Bo8 TS* D dden L Bohwdd (Foard) drddyT7)0n?

A B H
1) A-(A-B) i) ANB iii) A-B
Correct option 1s
P0G JdrTNo
(1) (i), (i) 2) ®, (i)
(3) (u), (1) (4) All ()
59. Let P :{5,7[,\/3,—-3,8+s/§,g,%} and Q is the subset of P which contains all the
elements from it which are irrational numbers then n(Q) =
P:{5,x,~/§,—3,8+\/§,g,%}@m§‘&&3. Q ©38 P Bwg), 433208 Sodaks
Q &, P& o o) §68oh Jopgen Sarosteor ¢o8 n(Q) =
(1) 3 2) 5 3) 4 4 2
60. If A= {sin0° cos60°, tan45°, cosec30°} and B = {cot90°, sin30°, cotd5°, sec30°} then
ANB= _
A = {sin0° cos60°, tan45°, cosec30°} Sodosn B = {cot90°, sin30°, cot45°, sec30°}
wond AlIB=
1 1 3
(1) {09—51} 2 0,—,—,1 2
> @ {025
3
(3) 12} (4) B
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61. If o and P are the zeroes of the polynomial x? + 5x + 6 then L] + 1 =

o p
2 Sr 6 e pZvH Gwk, Irage o $H00HP wond l+%=
o

5 I
(1 - 2) —

6 (2) 30

6 -5
) 2 5 =2
( S (4) 5

62. If ‘—4" is a zero of the polynomial x? — x — (2 + 2k) then k =
2 x— (24 2k) o5 2Fod88 a8 Trdgo ‘—4” wond k=

(M 9 2) 3
3) -9 4) 6
63. The distance between the two intersecting points of x-axis and the graph of
px)=x*-3x—4is units.
x-go S08a%0 p(x) = 2 — 3x — 4 05 0500 SPrdge Bokd PodS DocoJo &g
&80 | o
(1) 2 2 3
(3) 4 4) 3
: : x* —8x
64. Find the quotient of — —_—
x +2x+4
x* —8x
@), Peo Eoirdod.
2
x“+2x+4
(1) x*+2x+1 (2) - 2xtl
(3) x(x-2) 4) x*+2

V-Maths ' 13-A



Question Paper A
Booklet Code

—

65. Assertion (A): If o, B, y are the zeroes of the polynomial p(x) such that o + B +y=3,
ap + By + yoo= 10 and afy = 24 then p(x) = x* — 3x” — 10x + 24,

Reason (R) : The graph of the cubic polynomial, whose zeroes are all real, intersects
the x-axis atmost three distinct points.

Now, choose the correct answer.
(1) Both Assertion and Reason are true and Reason is supporting the Assertion.
(2) Both Assertion and Reason are true but Reason is not supporting the Assertion.
(3) Assertion is true but Reason is false.
(4) Assertion is false but Reason is true.
TgargSo(A) 1 p(r) o3 2Hui08 o, B, Y oo drargen Hobain ot B+y=3,
af + By + you=—10, Soboso afy=-24 ©o0nd
p(x) = x> - 3x> - 10x + 24.
s~8e00(R) : 28 DJ0TOHE BwE), TTgen ) TIYTL vod T Ty
X-o5Q) KoQom S ko 2)2‘1)264 Dodode G pod08.
aa’:jéa leTesbhY 262.’).?0‘3‘&)& o)éocﬁ‘«‘éoéw.
(1) oggrgSo, 5°8e0 Bokr éégﬁo. 580, T§IYI"R) ééogé_ono&.
(2) TgargSo, 5560 Bodr J&gH. §°Q, 57800, TP IR SRS
(3) aggrgdo 3850, 7 5780 WIEg0.
(4) Tggrgdo eddgo, 57 5°80 J&go.

66. If (X+y,x—y)Z(IOgg,loglg) then the value of 2x — 3y — 1 is

(X+,V,X—y)Z(logg,log:g) ©®od 2v - 3y - 1 Q¥ dens

(1) sin 90° (2) cos 90°
(3) tan 90° (4) sin 30°

67. Ifthe system of equations 3x + y = 1 and (2k - 1)x+ (k— 1)y = 2k + are inconsistent the
k= '

3x+y=130008 (2k—1)x+ (k- 1)y =2k + | ©33H% 3DoEege 555 ©HoKSZ0
k — (&Y

() 1 (2) 0
(3) - (4) 2
V-Maths 14-A
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2 3 5 4
68. If =+—=13 and ———=-2 then the solution is

X v Xy

2 3 S 4
—+—=13 00 —-—=-2 &I JWEbTO FES

X oy X oy

~1 -1 -1 1 11 11
“) [77} = (?5) 3 (3’2J “ (5’5)

69. Ifax+ by =a’—b? and bx + ay = 0 then the value of ‘x — )’ is
ax + by = a* — b* $08350 bx + ay = 0 wond x — y Jend

(1) a*-#? (2) b-a (3) a+b (4) @&+ b?
1+2434+...+n _
0 14345+..+(2n=1) ——
a1y 2 @ 2 3 2 @ =
2 2n

71. Graphically y + 2 =0 represents a line
(1) parallel and below to x-axis at a distance of 2 units from x-axis
(2) parallel and left side to y-axis at a distance of 2 units from y-axis
(3) parallel and above to x-axis at a distance of 2 units from x-axis
(4) parallel and right side to y-axis at a distance of 2 units from y-axis

B0 Hom y +2 =0 0k 3DEG00 Jordowd HEEdY

(I) x-e8c &0k 2 oS Er80eS* X-05d8 Jdroddomr BHI IY Godnod
(2) y-ego 508 2 cSrddy Brdos’ y-wg s SITFoSLom 8K IY Gotnod
(3) x-wgo £08 2 0L GrEod” X-WFAE Sdroddom LI JY wotod
(4) y-®Eo $08 2 crdéy Erdod’® y-oFd8 Sdroddomr SAJYS wotnod

2. If 1 l 1 areinA.P.thenx=__

x+2 x+3 x+5

1 , 1 , 1 ©058 AP & o8 x=__
X+2 x+3 x+5

(1) 5 (2) 3 (3) 1 4) 2

V-Maths . 15-A
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73 1f18. a. b, Yarcin AP thena’ 2ab+ b =
18, a. b. 3o AP @oll @ 2ab+ B =
(1) 44) (2) 121 (3) -74 (4) 49

74. 1flogp. logg. logr are in AP then ¢>  pr=

&

logp.logg. logres APS* &oll ¢>  pr=
(H 0 (2) 1 3) -1 (4) pqr

75.  The angles of a right angled triangle are in A .P. and the smallest angle is 30° then the ratio
of its sides which are opposite to that angles and in ascending order.

e onf'm BH20S'Y Surd Saren AP & 0 Hocn TES° 9805 S'=o 30°
wond & Farol dHEHMT aF) e ub'irn B8 slHiyd T8 IS

(1) J2:1:2 ) 1:2:43

76. 1f origin is the centroid of a triangle, whose vertices are (3, 2), (-6, y) and (3, -2) then
V=

(3.2). (6. y) (3, -2) foreom AOAS Bebzo B, H&gEodo Srvdolo Bons
y =

a o (2) 3 (3) 2 4) 6

77.  The ratio in which the line segment joining P(x,, y,) and Q(x,, ,) is divided by x-axis is
P(x,.y,) S06a50 Q(x,, y,) DoDYJod s '6:;!‘:)06‘&3 x- ©80 dF2o QYA
() v 2) vy 1y
(3) x :x, 4) —x;:x,

78. The distance between the points (a cos8, 0), (0, a sinB), where a> 0 1s
(a cos6, 0), (0, a sinB) Bocb Yo D&y &rdo (a > 0)

(1) a (2) Ja (3) '} 4) a*

79. In AABC, DX(1, 3), E(- 2, 7), F(2, -5) are the midpoints of the sides BC, AC and AB
respectively, then the area of AABC = sq. units.
AABCe* D(1,3), E(-2,7), F(2, - 5) 0589 $63m BC, AC $:6050 AB hares 65
DovYoand AABC 3zogo .ok
(1) 10 (2) ,20 3) 30 (4) 40

V-Maths 16-A
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If *h is the altitude of an equilateral triangle then its arca is (8q.units)
o8 JWSv BehRo BwE) &N wond T JTogo (¢5.05070¢2)
h? h? h h
(= 2 = - “

3 NG (3) NE (4) 3
In a rhombus ABCD, AB =4 c¢cm, then AC? + BD2 = cm?.
ABCD cro2%e* AB =4 o.20. @wond AC2+ BD?2= 5. 200.0.
(1) 80 2) 72 (3) 64 4) 32

ABC is a right triangle right angled at ‘C’. Given BC=a=4cm,CA=b=3cm and ‘p’ be
the length of perpendicular from ‘C’ on AB then p = cm.

vonf'e Bzvzo ABC &' voafem 860 ‘C 5§ fod. BC=a= 4 0.,
CA=b=3%0.5. 508050 8850 ‘C’ %08 AB 8 ADS oowdn F6H p’ o as=ae,

p= 200.2D.

20 12
1) s @ = o 5 @ 3

‘O’ is the centre of the two concentric circles radii 13 cm, 5 cm. If AB is a tangent of inner

circle, where A, B are two points on the outer circle, then AB = cm.

13 0.5, 5 0.2 Trgrgeon [0S 3otk NE Fol Symre oo O'dain AB

©0dE S)Bodso égdﬁ:p. A, B en aridsg Son Bodd DoHen wond AB =
0.80.

12 3) 22 (4) 24

() 11 (2)

17-A

V-Maths



Question Paper
Booklet Code

I

84.

rcle. ‘P’ is an external point and
hich of the following is false?

5yE08 hOS SydPves

From the below following figure, ‘O’ is the centre of the ci
PA. PB are two tangents drawn from P to the circle. Then w

Bob S0 08, ‘O’ Jyg Soo. & rirgos* 28 DY P S00b

PA. PB ®wond 08 6 28 eddgo?
A

B

(1) PA=PB (2) OA=0B
(3) ZOAP=ZOBP=9%0° (4) ZPOA=/POB=60°

8S.

“O’ is the centre of the circle and PA, PB are two tangents drawn from the external point ‘P’
then x° = ___
‘0’ $)8 Soo S0Bosn wIgBotY P’ Kood s ADS Gdped PA, PB s0038

0 =

X

(1) 60° (2) 100° 3) 110° (4) 120°

86.

The area of sector, whose radius is 7 cm with a sector angle 72°
PEG F@072°8" 7 0.0, Tgrgor Ko VLS JTogo

(1) 30.8 cm? (2) 28.8 cm? (3) 154 cm? (4) 88cm?
2tan30°

1+ tan” 30°

(1) sin 60° (2) cos 60° (3) tan60° (4) sin30°

V-Maths 18-A
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g8. Which of the following are true?
8od SRS D coégo?
i) sin’® =1 - cos?0
i) sec’® = 1+ tan%0
i) cosec?® =1 - cot?0
(1) (), (1) () G, Gi)  (3) (), (i) (4) (i), (ii), (iii)
80. 08’ 1°4¢c0s”2°+c0s23°4 .+ cos’ 89° +cos”90° =
1
(1) 45— 2) 0 3) 44t 4) 1
2 2
90. Iftan x®=sin 45° - cos 45° + sin 30° then x° =
tan 1° = sin 45° - cos 45° + sin 30° ®ond x° =
( ] ) 45° (2) 90° (3) 0° (4) %
9]. At a particular time, if the length of the shadow of a tower of height 20 mtrs is
20\/5 mtrs, then the angle of elevation of the Sun is
L DG $HAOS', 20 Dbl FEH o LIE G0, 6 FEY 2033 L. sHLenE,
& JZ0000eSt JrdgdS ﬁigsg‘eao
(1) 30° (2) 45° (3) 60° (4) 90°
92. A ladder 15 m long just reaches the top of a vertical wall. If the ladder makes an angle of
60° with the wall, then the height of the wall is metres.
15 5. FEYfe TS A'd Perm) SO e 5odr, FES' 60° oo DainHHA. wond
DIAREY Sotatf.
15 15
(1) 153 (2) —I— 3 5 (4) 15
93. The median of first 8 prime numbers s
308 8PS Dopge Sogghdo
(1) 11 2) 7 3 9 @3
94. The mean of 13 scores is 8 lf one of thc scores 20 1S deleted from them, the average of

V-Maths

the remaining scores is

13 388 aroze S 8. & 4880700 o& w8 5883037030 20 d Sofodm, DADS

ocHe o708
M 11 2) 10 (3) 14 @ 7
19-A
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95. The range of the maximum and minimum values of sin@, where 0° <0< 90° is
0° < 0 < 90° BoIYK sin Bk, K03, EAQ dwdeo Ty
(H 0 2) -2 3) -1 4) 1

96. If the mode of the data 3, 1,4,3,5,7,3,9,3 isx + 1, then the value of 2x2 + 3x 4 1 is

3.1.4.3.5.7.3,9,3 03 dar0d0 G, wrioso x + 1 wond 2 +3x + 1 &8,

DD
(1) 11 (2) 13 (3) 6 (4) 15

97. 1f the mean of x,—l— is ‘k’ then the mean of x3,—17 is
X b

1
x,— © dKEL k wond x3,L © D0
X x3

k* -3
1 # 2) ©+3 @) Ka-3) @ |5

98. 1f P(E)-P(E) =§ then find P(E)

P(E)—P(E)z% wond P(E) & §5omsos.

1 5 1 2
(1) 3 (2) '6' (3) g 4) ‘g
99. Ina single throw of two dice, the probability of getting a total of 11 on the two top faces of
the dice 1s
Body FDEeL wBI0 FRoAIYR, T8 DIVFTOD Iy Jopge Iwngo 11 95L%
dogrdgd
1 1 1 35
1 3 (2) T (3) 3 (4) %

100. Which of the following cannot be the probability of an event?
Bod TS* I8 wE wLd Bl Doerdgd ©KLs FEgo §°e?

2
M 3 (2) 1.0 (3) -1.5 4) 15%

V-Maths 20-A
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PART - 111 ; PHYSICALSCIENCES

camount o atr 1 :
th‘ imount of heat required 1o raise the temperature of | gm of water up to 1°C is called
as

(1) Joul | (2) Kilo calorie
(3) Calorie (4) Joul/Calorie
Lf (TS0 A8 SPRESH 1°C DoSarde ©I38Hcdhy Byl Inal) 0 wotrd.
(nH & (2) &&* 3e5%0 |
(3) 37 (4) TSRS
102. When 1ce starts melting at 0°C then it's temperature
(1) Cannot say (2) Decreasing
(3) Increasing (4) Remains constant
0°C 3¢ fo Do BIFSS0 Bo&HHYG T &S
(1) S5HBSw (2) SK806
(3) DEKS08 | (4) Yoo &otnod

103.

Water with ‘m” gm mass at T;°C mixed to the same mass of water at T,°C, the resultant

temperature at equilibum T = (if there is no heat lost by the surroundings and

T,<T,)
(1) LessthanT,°C (2) Greater than T,°C

(3) Greater than T,°C less than T,°C (4) (T,+T,y°C

T,°C 63688 o ‘m’ . ($550°3 fo DB @08 B350°3 Jo T,°C oPPs do A8
EOLIPL Gy dJoeRs H¢ D 508 aPRS T = (03070 &0 SJSRJO SISy
08050 T, < T,e008)
(1) T,°Cgo& &803
(3) T,°C €08 289, T,°C 08 889,85 (4) (T +T)°C

(2) T,°C 808 893

104.

V-Phy.Sciences

The amount of heat received to change the 10 gm of ice at 0°C to 10 gm of water at 0°C

1S
0°C 38 Ke> 10 (T © S0k, 0°C ‘59 Ko 10 o A Qrdodoso @;Sédmdiog BRI
Q

DS

(1) 8(36 ;f— (2) 80 cal (3) 8cal (4) 540 cal

21-A
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A B ]
1 | 050 |
—— | of time to all above Mentiong

eat for equal internal O% -
cending order of the rise in temperature of them,

10S. | Substance with mgm mass

| S —

Spc;irﬁc hcal'ic:ail/ém"(‘
It is supplied equal amount of h
substances. Choose the correct as
g mesen | A P C | P LEF
‘ 1 050 | 0.095 | 0.012 | 0.081

D3FRo (cal/gm°C) o8’

SEES' aRS ST od HoErmos’ S, pErSEO0 T BVOBOAIR, >y

aPie pHHSO doe 6% (00 T°o08.
(1) D<E<C<B<A (2) A<B<C<D<E
(3) A<B<C<E<D (4) A<B<E<D<C

106. Colour formed by the hydrochloric acid with universal indicator is

(1) Orange (2) Violet
(3) Yellow (4) Red
TEEeE R0 EBE JrRES BB ot

(1) eBos Q) o
(3) dB0% (4) Y

107. Formula of plaster of paris is
Fb e FOO FéT
(1) CaSO,2H,0 (2) CaS0O,'2H,0
(3) CuSO42H,0 (4) CuSO,%H,0O

108. Substance ‘X’ reacts with hydrochloric acid and formed Y and Z. Z gives ‘pop’ sound Wit
lighting flame stick then X, Y, Z respectively are

X’ @3 dorgo TEE0E 65308 B5T00 Y 00k ‘7’ 0 D6)8008. Z 5§ S0
ONYLD &odd ‘WO DI o) aRod. vond X, Y, Z oo S&dr

(1) Mg, H,,MgCl, (2) MgCl,, Mg, H,

(3) H,, Mg, MgCl, (4) Mg, MgCl,, H,

V-Phy.Sciences 22-A
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109. Select the correct one from the following matchings.

) Thrtancacid a)  Dock plant
i) Formic acid b)  Nettle plant
c¢)  Tamarind
d) Lemon
80D BSDODS TBS* OGS Krgoisod.
i) &gos edvo a) Sy
i)  Psdo b) &roffod 30§,
c) Doddodk
d) 39830

(1) (1)-d, (mn)-a (2) (i), (ii)-a (3) (i), (ii)-b (4) (i)c, (ii)b
110. Which of the following is not an alkali?

& (Bod TRS* eoz,e’) 582

(1) Fe(OH), (2) NaOH (3) KOH (4) Mg(OH),
111. Which of the following is not correct for the given figure?

(1) Angle of incidence is less than angle of refraction.

(2) Medium B is denser with respect to medium A.
(3) Speed of light in medium B is more than medium A.

(4) The value of ng, is less than 1.
20\& HLOK JSowofod §od TAS* J0I8 57A8?

(1) 58580, SEE556'm0 §oB 38D,
(2) A& 0% B &rogés asriko.
(3) ocirdko A &° EoB dirdgo B & 5708 3Ko 8.
(4) ng,oend 1808 S8,
112. For the same angle of incidence valuer; <1, in the given figures. Then wrnite the ascending

order of the speeds of light in the media A, B, C.
@8, Sirees® ot H8568@m0 dendb 1 <1, pand A, B, C adrdstod o8 S 0RITY

ub' e ES00dt |T000b.

(3) B<A<C (4) B<C<A

23-A

() A<B<c @ C<BsA () BASC
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gses through a medium to vacuum then fip

113. The critical angle of a light ray 1s 30° when it pa
the speed of light in the medium? ) colr &
L€ sod Smo o wrsEo S0b ErdgoSs HosreoddIyd =0 6 890 deyy
30° wowd & aSrSgoes’ 5od3K0 Do8?
? 3 108 misec  (4) 2%10* m/sec

8 =X
(1 3x10° m/sec  (2) —ixl() m/sec  (3) )

-

4
' i — and — respecti
114. The refractive indexes of glass and water with respect to air are -, 3 Tesp ively then

. . f)
what is the refractive index of water with respect to glass’

3 4
mOE)Ty e 0ok A 5858 Heser GV o 308080 7 ©wond Ml d

5@555 Koo dod?
2

2 4 9
S @ 3 3 3 @ 5

3
115. Which of the following will change during refraction in two different media of light?
(1) Wavelength, Refractive index
(2) Freguency, Wavelength
(3) Velocity of wave, Frequency
(4) Refractive Index, Frequency

Both Ik cirdEeds’ 5708 3828580 20ASIYE 808 TIS° 3089 22?
(1) &6onBgso, 5858 Hoeako

(2) Zrd:dg0, SCorBEg0

(3) &doft 3o, FS:Ygo

(4) SEgss romso, FSsYNgo

116. An electric lamp and a screen are placed on the table, in a line at a distance of 1 m. In \\hat
position of convex lens of focal length of /= 20.25 cm will the image of lamp be sharp’

;,g 25302.)05 Jeoridod) &g wey), BEH uf TITES 1 B, Srdos’ 60"'°
25 cm 350860 Ko K0aTEE K05y D
&g 28 ¥
©8Dow0 IEYEE0H? : % %‘550@5‘ °° o

1) 70 cm, 30 cm
§3; 75 cm, 25 cm (2) 60 cm, 40 cm
: Sﬂ 65 cm, 35 cm

V-Phy.Sciences 24-A
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ance of object (u), position of image given for

The focal length of a convex Jeng i ‘f

various situations. Then select the c()"dnsl

: — cct matchi i

) u=2f Q) Al infinity ching from the following.
i u=f b)  At2F

i) f<u<2f ¢) OnF

d)  Beyond 2F
L& BooeTsty S SrEgosSo

5@6}‘60 ‘U’ b6 o
@adomo AT RIgwFax. o Bons 2§ Sobuyed® Sgdrdo (),

6 28605 T83e5° N8GIH KBotob.

i) u=2f )  ©308 Srdost
i) u=f b) 2F s5¢
i) f<u<2f ¢) F 5¢
d) 2F8 ele
(1) (1)-a, (i)-b, (iii)-c (2) (i)-b, (ii)-a, (iii)-d
(3) ()b, (1)-c, (iii)-d 4) (i), (ii)-c, (iii)-d

. Atransparent sphere of radius 6 cm and refractive index 1.5 is kept in air. At what distance

from the first surface of the sphere should a point object, be placed on the principal of axis
so as to form a real image at the same distance from the second surface of the sphere?

6 cm rgrdo Ko FESEE Ko mOS* Gob. Td SEFIS HwgolS 3% &ros
PSS Br8os® Fed8 To&'3Y) JuEENow0 ITYFLOH, PETEo F¥o ndE
690800 3008 5NHH Jod Erdos’ oTd?

(1) 9cm (2) 6cm (3) 12cm 4) 15cm

419.

120.

3) dz, e PH&DOWO

v~l)hY-Sciences

An object is placed 40 cm in front of a converging lens formed an real image at the same
distance from the lens. Then what is it’s focal length.
& BoBEGe Etako 5006 40 cm © Erdod” SNIP GoAIYK $L%o 0d wod

Er6os* JzeEpdDono A6)E8 & B Tesgodso dod?
(1) 40 cm (2) 30cm (3) 80cm (4) 20 cm
ex lens of focal length 20 cm when an object is

Characteristics of image formed by a conv
placed 60 cm in front of that convex lens.

(1) Real, Magnified image

(3) Real, Diminished image

20 cm Jrggoddo Ko wf Booars s E&80
3533 P8Do ©FET e

() 2z, 5388 ©8DowO

(2) Virtual, Magnified image
(4) Virtual, Diminished image
$308 60 cm © &30S SRYR0NIYE

(2) DErg, SR8 w8dowo
(4) DT, feo |PBDORO

25-A
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below 10 years nearly 7 to § o

st <jon of aged
121 The reason behind least distance for distinct VIS0

1S .
' 1gh, but having
(1) Muscles of eye are not strong ecnNOUg o fexible.

(2) Muscles of eye are strong enough. vhlll
(3) Muscles of eye are strong and flexible.

(4) Muscles of eye are not strong and not ﬂcmblc.« 476 7 cm $00D 8 cm Godar
s 10 SosEeEY T DGR 89 6700 W

Ne 580
(1) &o&d odo en é;cson* Ssvod, ‘{38@‘;0

(2) Eo&S BodTew d)don‘ &0, g&%ééé
(3) EolS EodTen GyEom, (’gé’a;?;ééé.& £OR GO
(4) Eo& Eodoen Gydom B0, ?gaégééé.'sa 1))

flexible.

g5 8OH &sobddo.

S 8Oh SsotgFSdo.
&do.

A GoBEFSs0.

122, The colour indicated by the letter “B” in «yVIBGYOR” 18

(1) Black (2) Brown (3) BabyPink (4) Blue

VIBGYOR &* “B"&&038 BoKrdy drdRod.

(1) =6 (2) & (3) 3D o 4) ==
123 The colour of the inner cone in rainbow is

(1) Violet (2) Red (3) Orange (4) White

20GEIHNS" ©NoBET) vods Fopo) R Boikd

(1) o (2) 5 (3) &doz (4) B0

124. When white light falls on the surface of a regular prism?
A) Refraction of light takes place.
B) Dispersion of light takes place.
C) Scattering of light takes place.
(1) Only(A) (2) Only(B)
(3) (A)and(B) (4) (A)and (C)only
el BDQEC AwE), 6Jbdw0 8uls 08 DAIJyd
A) 508 58550 abHd0d.
B) 508 J8d00 285808
C) 508 H085m0 adK&0d.

(1) 3dewo (A) Srm@d (2) 3Se0 (B) S
(3) (A) So80s» (B) (B (A) B850 (C) S

V-Phy.Sciences 26-A
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25 when white light disperseq through 4 re e

0 Wa}'CICTlgﬂ.\ of red colour light iq[:ular Prism then which of the following is not true?
(2) Refractive index of req colour |{ ,}:‘ ore.

&) Red colour light deviates more i isless
) Red colour light deviateg less |

& SR80 HoT B soa J8He00 BBk
(1) A5 Fo 5r0d édoﬁna_g)go 0&2,;’)

2) AR S0k 5708 38558 oo LSRN

3) QY ok NEVRY Dx‘.’)&)a‘«% Do&sr08

(4) Q5P o> S8y I QTOIY) Podrekrod.

Bod TEgOG 5050356 IO NI~

26. Identify the set of quantum numbe : : :
I clectron in any atom? rs from the following which are not possible for any

D SIS QUL%‘S.?_Q‘ FEFOE §got0 Jopgods Bod TAST KGohdn.

-2 = _ 1
(1) n=3,1=0, m; =0, m, =+ () n=3,1=2,m,=+1,ms=‘lz
i
1
() n=21=2,m=1,m=+5 (4) n=2,1=1,m,=1,ms=*l
- — . 2
127 The energy of a light wave (in Jouls) with a frequency of 3x10% sec™!
3x10% sec! S:QSgo Ko 5708 oo BY, #§ (FHS')
(1) 1.9878x107"° (2) 1.9878x10°!!
(3) 1.9878x10°'° (4) 1.9878x10°"°
8. Which of the following has maximum lone electrons?
& §ob TS* Koy dopgd” o0 doESen BIS* dotron?
(1) Fe (2) Ar (3) Mg* @ T
A— a0 S
29. Which type of d orbital is indicated by the given figure:
DS Heoo O 6ES d eB)Erd Jr008?
y
(3) dx: - (4) d-\‘2 _\i_

Mi—/j} A
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- -
tiating electron of potassium
bopge DD

130 The value of four quantum numbers of differen N
- = o)
DErRoN0 S0k BEIOB JOES BooE), Tenid 870
(1) n=4,1=2.m=+1,m, '*‘2 (2) n 4,1=0,m s >
1

] - — :+]’m _— e
(3) "':4./fl.m/”0.mxf4-2~ (4) n- 4,1=0,my s 7

“the list Newlands law of octaves table of

131 Which of the following clement is not there in

clements? B Garel
& §0d TR Srgerod vyd DoSody Sareose HPES” B e; 0. ;
(1) H (2) Rb (3) Cr (4) He

132, Which of the following is considered as a group-I in Mendeleev’s periodic table when he|
constructed initially on the basis of oxides? .
Sorosre s3e sFdor $oSrd BondS 204dS &9 eSS HESS” (a1 L &
Bob TRIES® 8 JorDoH?

132 Which of the following element belongs to chalcogen family?
ol TAS* T el Stwoerds Fods Jrelo A8?
(1) P (2) Br (3) Se 4) Si

134. Metals in 14" or IV, group are
IVa (14)5 5" o S50
(1) C,Si (2) C,Ge (3) Si,Ge (4) Sn,Pb

135, The atomic number of the element which comes immediately after Nitrogen in V(13
group. )
Va(15)5 fir80 Bob8 J'as 8608 0l |Kryes® 53‘) Qorof S0 Sopy
() 7 @ e (3) 15 4) 17

136. B\ond angles, atoms of elements matched in the following. Identify the correct of
B) 107°4¢' Y eI
C) 104°31" Z) NI »
& (§ob g Sorof HE S 3684

Eo8 w0 Sares ol SOSrmges asd0SpASD. $0@8E Kgosed.
a 1037CE ) HOI -
(1) Ax,B-y (- 5
(3) A-y,B-x,C-z (‘i) A-z,B-y, Cx
— (‘ ) A-ya B‘Z, C-x

V-Phy.Sciences WA
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.-Which of the following has more pie (7) bonds?

137
808 TR* NEORN :..3(7!) WO e KOd.
(N N, (2) CI, 3) O, (4) HCI
138. Which of the following molecule does not have covalent bond?
& $00 TES* JHATr2AH oo B VY.
(1) HC (2) BeCl, (3) KCI (4) O,
139. ‘X" 1s an element gives compound XO, with oxygen then valency of ‘X’ is
X'od ef oo e§zds" X0, o3 Jodrd Sorgd) aQ)d X'ABwE), Jod)
(1) 4 2) 3 3) 2 4) 1
140. The atomic number of element which is not able form cation.
& (08 TES" LA IHBIB Soros HESren Jows,
(1) 11 2 19 3) 12 “4) 9
141. If R, =R, = R; = 20Q2 which of the following has more resistance when compared with
other three?
R, =R;=R;=20Q ®ocnd & 808 T°IS° ADS S0rd0838° FOQ BIS* 3 Co wiso.
R1
AW
R, R, R, R,
(1) —rw—rw—rw— (2) A AW B
MWW
R3
R,
R1 R2 _'W!
(3) A oy B (4) A —o L AMW—a B
AN Rs
3 S ————
42. Two wires are made of same material and having same thickness are having lengths L |, L,

/

and resistances R, R, respectively then which of the following is true?
@8 STod® DS 8 Svodo EOAS Bk Sre FdYew SR L, L, 20805 ds'Ten

Ri, Ry @ani & Bob a0e* D6 98507
vRy L, R, L

(]) R Rlz R%
Li=RL, (2 == Q) = 4) —L_21
=2 Ll LZ R2 L| R2 L2
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— : 1

1 Joul

143. l—(:_(;lilmnh -
(4) 10hm
(1) 1 Volt (2) 1 Ampere (3) 1 Watt
185
1 Sooros .,
n 15 (2) 1wodaws  (3) 1 a‘f/,’ﬁ)__li‘f_ﬂ
144. A dc;irc;i;::;;;cic;di 0 ZQOVIine has two resistant coils X aqd Y each 11 ohms.re51sta;1]cc]
Calculate the amount of electric current flow when these coils are connected in paralle
(1) 10Amp (2) 22Amp
(3) 40Amp (4) 20Amp
220V B8 808 2.8 DdogS H0E80e® 2,87 8 & 11 26°G0 Ko X So8asn Y 8K dodye:s
S8rodSomr Hogrdo BIS Jdogd RITT) ngoéo&.
(1) 10 sodcHden (2) 22 sonoHben
(3) 40 sooben 4 20 es02n006en
145. Power of an electric device is P then which of the following is true?
2 DogS HBEG0 FHoggo P woxd & (§od TS* B DSgo?
12
(1) P=— (2) P=V°R
R
V2
(3) P=IR? 4) P=—r
(4) R
146. Bauxite is the ore of
TQ) w88
@ A @ & O« 4) Mg
147. Which of the following is not an oxide ore?
(1) Bauxite‘ (2) Pyrolusite
(3) Haematite (4) Galena
B0d TES* EBE TP 570 A8?
) waas (4) now
——
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148.

Identify the correct one from the following matchings.
1) Na A)  Electrolysis of fused compounds
n) Pb B)  Reduction of oxide with carbon
C)  Found in natural state
808 2EDBIS TBS* HOFSO K801508.
i) Na A)  B58rS 3o Dgd Dhee
i1) Pb B) 5&)Q&° egbe gossmo
C) ©58s* STzvgormr ©HIH
(1) ()-A, (i)-B (2) (i)-A, (ii)-C
(3) (D)-C, (1)-A (4) (1)-B, (i1)-A

149.

150.

While processing of electrolysis of NaCl which of the following is correct?

(1) 2Na™+2€ — 2Na**(at cathode)

(2) 2Na™-2€— 2Na**(at cathode)

(3) 2CI" — CI, +2€(at anode)

(4) 2CI" — Cl, — 2€(at anode)

NaCl Deogs e BBOD 2BASYE, Bod TIS* D6 HBHI?
(1) 2Na*+2% > 2Nat* (& 3g)

(2) 2Na*-2€ 5 2Na*t* (66 3¢)

(3) 2CI" - ClL +2 (A& 38)

(4) 2CI" - Cl, -2 56 5g)

Bronze is an alloy of

(I) Copper and Gold (2) Copperand Zinc

(3) Gold and Tin (4) Copperand Tin

DEFD S0 ads SF Ko SR

(1) oA S56a050 20mdo (2) oA B RS

(3) =omdo Sobosn SK80 (LB9) (4) orh S8 SKS0 (835)
00000

V-Phy Sciences 31-A




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

